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ECE-300, Quiz #2
  1) The average power in the signal 
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 2) The average power in the signal 
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 3) The signal 
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a) an energy signal  b) a power signal   c) neither an energy or power signal

4) The signal 
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a) an energy signal  b) a power signal   c) neither an energy or power signal

 5) The signal 
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 a) not periodic 

 b) periodic with fundamental  period 1 second

 c) periodic with fundamental period 
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 d) periodic with fundamental period 
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6) The signal 
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b) periodic with fundamental period 
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c) periodic with fundamental period 2
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d) periodic with fundamental period 0.5 seconds

For Problems 7-10, consider the system modeled by the differential equation
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7) Is the model linear?                 a) Yes     b) No

8) Is the model time-invariant?   a) Yes     b) No

9) Is the model memoryless?     a) Yes     b) No

10) Is the model causal?              a) Yes     b) No

Continued on the back…
In Problems 11-14, consider the system modeled by the equation
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11) Is the model linear?                 a) Yes     b) No

12) Is the model time-invariant?   a) Yes     b) No

13) Is the model memoryless?     a) Yes     b) No

14) Is the model causal?              a) Yes     b) No

15) Consider an unknown system. When the input to the system is 
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 the output of the system is
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. Is the system linear?

a) Yes     b) No     c) Can’t tell, not enough information
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